6a Sept 2017   09:10
01:14 UT

AIA EXPTIME = 2 s

Cross-calib. factor =  3.37  
Относительно кадра 08:36
На кадре 09:10
Total flux in arcade = 3.2286908e+021

Total flux in dimmings = 3.6860721e+020

Total flux in dimmings + arcade = 3.5972992e+021

Ap index = 40.289750

Forbush-decreases = 1.2108656

Dst index = -67.121378

To = 80.223078

Tp = 98.214760

На кадре 09:34
Total flux in arcade = 3.6611094e+021

Total flux in dimmings = 3.6860721e+020

Total flux in dimmings + arcade = 4.0297174e+021

Ap index = 45.132834

Forbush-decreases = 1.3924812

Dst index = -72.264779

To = 78.511135

Tp = 96.274333

